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QUESTION 1

A business wants to make sure that when an item within an order is not available at localstore or regional distribution
centers, the item should be sourced from a central warehouse. 

How can this be accomplished? 

A. Enable the "Fulfill from all ship nodes" configuration in the Applications Manager 

B. Ensure that the central warehouse belongs to a central region created in the Applications Manager 

C. Ensure that the central warehouse is configured in a distribution group in the Applications Manager 

D. Make use of the backorder against the highest priority ship node rule in the document- specific fulfillment rule 

Correct Answer: C 

 

QUESTION 2

A master catalog organization (ABC) authorizes its sub-catalog organization (XYZ) to manage an item category "Gift
items" within its master catalog. 

When adding items to the \\'Gift items" category, which statement is true? 

A. items can be added to the=Gift items" category only by the sub-catalog organization XYZ 

B. items can be added to the "Gift items" category only by the master catalog organization ABC. 

C. items can be added to the \\'Gift items" category by the master catalog organization ABC and by any of the sub-
catalog organizations that belong to the master catalog organization ABC. 

D. items can be added to the "Gift items"category by both the master catalog organization ABC and the sub-catalog
organization XYZ. 

Correct Answer: A 

 

QUESTION 3

In a production environment, agent server JVM has crashed due to an out of a memory error on the agent machine.
Agent server JVM is configured to run with 5 threads. At the time of the crash, 5 different records are being processed
by the agent server JVM and 1707 more records are present in the non-persistent JMS queue to be processed Agent
server JVM is re-started after increasing the memory. 

Which statement is true? 

A. Agent will start processing the 5+1707 records; agent re-trigger is not required 

B. Agent will start processing the 5+1707 records; agent re-trigger is required 

C. Agent will start processing the remaining 1707 records; agent re-trigger is not required 
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D. Agent will start processing the remaining 1707 records; agent re-trigger is required 

Correct Answer: A 

 

QUESTION 4

An order has been created with three payment methods: Credit Card 1. Credit Card 2 and Cheque. The orderPayment
Status is in "Await Authorization\\'. The charge sequence for the seller is specified as follows: 

0 for CREDIT_CARD 

1 for OTHER 

The payment methods use the following charge sequence: 

Charge Sequence for Credit Card 1 is "2" 

Charge Sequence forCredit Card 2 is "1" 

Charge Sequence for Cheque is \\'1" 

In which sequence will the running request Collection agent create the authorization requests? 

A. 1. Cheque 

2.

 CreditCard2 

3.

 CreditCard1 

B. 1. CreditCard2 

2.

 CreditCard1 

3.

 Cheque 

C. 1. CreditCard1 

2.

 CreditCard2 

3.

 Cheque 

D. 1. CreditCard2 
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2.

 Cheque 

3.

 CreditCard1 

Correct Answer: B 

 

QUESTION 5

In the following scenario, the system should avoid locking in YFSJNVENTORYJTEM until the overall availability is low
(150). 

How can this requirement be modeled in the system? 

A. Configure yfs.hotsku.lockOnlyOnLowAvailability = Y 

B. Configure yfs.skipLockInventoryitemList = Y 

C. Configure yfs.hotsku.assumeUnavailableonLockTimeout = Y 

D. Configure yfs hotsku.useAvailabilityAcrossNodes = Y 

Correct Answer: A 
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